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Group - A
1. Answer any four from the following questions:— [Sx4]

a) Discuss the different degrees of knowledge as admitted by Locke.
b) On what grounds does Berkeley reject the distinction between primary qualities and secondary
qualities?
c) Explain the Kantian notion of the a priori.
d) Distinguish, after Kant, between analytic and synthetic judgements.
e) What, according to Locke, is the nature of the idea of substance?
f) Explain shortly the Berkelean nominalism.
~ g) How does Hume distinguish between impressions and ideas?
h) What does Hume mean by “Judgements concerning matters of fact™?

2. Answer any two questions: [15x2]
a) What are innate ideas? How does Locke repute the doctrine of innate ideas? [5+10]

b) On what grounds does Berkeley reject abstract ideas? Bring out the implications of Berkeley’s
rejection of abstract ideas. [10+5]
c) How does Hume explain the relation between cause and effect? Explain critically. [15]

d) How does Kant distinguish between a priori and a postériéri judgements? How is synthetic
a priori judgement possible, according to Kant? [8+7]

Group—B

3. Answer any four questions:- [Sx4]

a) What is an argument form? What is a substitution instance of an argument form?
b) What are the basic differences between rules of inference and rules of replacement?
c) Explain with illustrations the fell-swoop method.
~. d) Explain the rule of Existential Instantiation (EI) with examples.
e) Distinguish, with examples, between exclusive sense of ‘or’ and inclusive sense of ‘or’.
f) What is truth-functional connective? Explain with example.
g) Explain with examples, the different laws of thought.
h) What proposition do you get by denying a tautologous proposition? Explain with illustration.
4. Answer any two questions:-
a) i) Use truth table to characterize the following statement forms as tautologous, self-
contradictory or contingent (any two): [2x2]

a) p={(pg)Vv(pr)}
b) (pv ~ p).(g>p)
) {(pog@>p}o(p>o9)

ii) Determine the validity of the following arguments by means of truth table method: [3x2]
a) C ©(1.D) b) Ro(Pv D)

(I Dy=B ~Pv~D
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iil) When are two statements called logically equivalent? Explain why all tautological
statements are logically equivalent to each other. [2V2+2Y]




b) 1) Determine the truth value of the following with the method of Resolution: [3]
[(p)v(=p.~r)]=(g=r)

i1) Use Fell Swoop method to determine whether the first schema of the following set implies

the second — [3]

a) po(qvr) b) pog
1i1) Use the method of Resolution to test the validity of the following forms of arguments: [3x2]

a) po(g>r) b) pog

p>oOgq PSF
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1v) When is a truth-function consistent? Give example. [3]
c) 1) Express the following in symbols using quantifiers, variables etc. (any four): [12x4]

a) Nurses are always considerate.
b) Some medicines are dangerous only if taken in excessive amount.
¢) Not every actor is talented who is famous.
d) All except the previous winners are eligible for the post.
e) Rabindranath Tagore is a poet.
ii) Prove the invalidity of the following arguments: [472x2]
a) Cows and horses are mammals. Some animals are mammals. Some animals are not
mammals. So, all horses are animals.
b) M o(NvO)
No(PvQ)
O>oR
~(Rv P)
S~M
d) Construct a formal proof of validity for each of the following arguments: [5x3]
i) PoQ
LXv~X
i1) Bees and wasps sting if they are either angry or frightened.
Therefore, any bee stings if it is angry.
i) (x)(Ix D Jx)

(3x)(Ix. ~ Jx)
S(x)(Jx o Ix)
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